Py
% 53 hE
HHSEE MENMDEEPTA —BESHTHE
IRADER (BfL; M)
EE SEETH HE

1 PTASE 400,000| F£ #2500 x (135RE+BE258)
2 | mezsse 1,802,064
3 ZDith 15| 518

ait 2,202,079

X HOER
HE SEEFH HE

! T8 60,000 | A B RRBEA H1L. 8B, N6 THEE (15, 000F)
2 HESE 30000 | EHAS . #1E
8 BER 1,000 | F 8%
b VR 40000 | EIRIFE, AE— AL TFFURE
5 SR 10,000 [/hPsE 5318 %
. ERE 20000|1R& . EHRE
: BBe 40,000 | {22}
O | mr-mxpman 5000 |B5I0- B SSH E %
10 /NA 30x350=10,500 /INZE 32 % 1,000=32,000

AZXGESRE 64,000|9Z 21%1,500=31,500
" miEsms 50,000 GEBNE GEEBEEE)
14 EEBE 80,000 |PTAR B AL HBGIELE. PTARIRSEERETE
15 PR 1,802,079

At 2,202,079

SHSEE BETEREISEH
HE ] BE
1 |BIEEEES 461,766
2 |FEEFA 4
A&t 461,770




